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[1] rtshell: http://openrtm.org/openrtm/ja/node/869

gooooooobonb

00000 632-2016/02/01 12:58 - miyamoto
[incompat,new_func,new_file,->RELENG_1_2] add CORBA_RTCUTtil.py. refs #3400

00000 644 -2016/02/01 19:22 - miyamoto
[incompat,new_func,new_file,->RELENG_1_2] add CORBA_RTCUTtil.py. refs #3400

00000 655-2016/02/25 04:31 - miyamoto

[incompat,new_func,->RELENG_1_2] add disconnect_by portref_connector_name() and disconnect_by_portref_connector_id(),

disconnect_all_by_ref(). refs #3400

00000 661 -2016/02/26 00:25 - miyamoto

[incompat,new_func,->RELENG_1_2] add disconnect_all_by name() and disconnect_by_portname_connector_name(),

disconnect_by_portname_connector_id(). refs #3400

00000 668-2016/02/27 10:34 - miyamoto
[incompat,bugfix,func,->RELENG_1_2] bug fix. refs #3400

00000 672-2016/02/27 11:04 - miyamoto
[compat,bugfix,->RELENG_1_2] bug fix. refs #3400

00000 675-2016/02/27 22:54 - miyamoto

[incompat,new_func,->RELENG_1_2] add get_connector_ids_by_portref() and get_connector_names_by_portref(). refs #3400

00000 678-2016/02/28 17:04 - miyamoto
[incompat,bugfix,func,->RELENG_1_2] The bug of get_state() has been fixed. refs #3400.

oo

#1-2016/01/14 16:14 - miyamoto
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-000ooooOosob0OO
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gobooooooooooooooooooooooooboooobooooon

#3 -2016/01/14 21:26 - miyamoto
-0000 test CORBA_RTCUtilLpy O OO
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http://openrtm.org/openrtm/ja/node/869

goboboooooooooooooobboooood
gooooooooooooon

g

CORBA_RTCUtilpyO 000 000000000000
RTCODOOOODO

® get_component_profileRTCOOOOOOOOOOO
e js_existingRTCO O OO OOOOOOOOO
® get actual ecOOORTCOOOOODOIDOOOOODOOOODOOOODO

gbooooooooooo

get ec_ id00ORTCOOOOOOOOOOOOOOOIDODOOO

activateJ O ORTCOOOIDODOOOOOOOOOOOOOOOOO

deactivateeJ DO ORTCO OO IDODODOOOOOOOOODOOODOOODODO
reset000RTCOOOIDODOOOOOOOOOOOOOOO

get stateJ JORTCO OO IDOOOOOOOOOOOOOOOODOO

is_in_inactive: DO ORTCOOOIDOOOO0O0O0O0O0O0O0O0OOOINACTIVE_STATEDOOOOO
is_in_activeeDOORTCOOOIDOOOOOOOOOOOOOOACTIVESTATEDODOOOO
is_in_error0 0 0ORTCOOOIDOOOOOOOOOOOOOOERROR_STATEDOOODOO
get default_ rate0 0000000000000 O0O0O0OOOOOOOOOOOOO

get current rate 0 0000000000 0OODOODO

set_current_rate:J 0000000000 OOOOO

get_participants_rtc0 000000000000 OCOOOORTCOOOOOOO

goooooo

get_port namesO O ORTCOODOOOODOOOOOOOOOOODOOOODO
get_inport_names:0 O ORTCO OO0 OO0O0O0O0O0OOOOOOOOOOOOOOO
get_outport_ namess 0 O ORTCOODOOOODOOCOO0ODOOOODOOODOOOOOOO
get_svcport_namessJ O ORTCOOODOOOODOOOODOOOODOOOOOOOOOOO
get_port by name:0 0 ORTCOOOOOOOOOOOOOOOOO
get_connector_names 0 000000000 0ODOODOODOODOODOODOOOOOO
get_connector_idss0 0 0 0000000000000 IIDOOOOOOOOO
create_connector:J 000 000000DOOO0O0DOOOO0ODOOOOOOOODOOOO
already _connected:0 D 00000000 OOOOOOCOODOCOOO
connect0 OO0 OOOOOOOODODO

connect multiO 0000000000000 D0OOO00ODOOOODOOOODOO

connect by name 0 00000000 OCOOOOOOO
disconnectO0 OO0 O000O0OOODOOOO

disconnect_by connector name0 00 0000000000000 OO0OOOOO0O
disconnect_by connector_id0 0000000 O0O0OCIDOOOOOOOOOO
disconnect_by port name:0 000 000000000000 OOOOODOOOODOOOODOOO

goooooooooooooo

® get_configurationO O ORTCOO OO OOOOODDOOODOOOODOOOODOO

® get_parameter_by key: 0 O ORTCOODO0OOOOOOOOOOODOOOODOOOOOOOOODOOOOOOOOOOOOOOOOOOOOO
O

® get_active_configuration0 0 00 0000000000000 O0O0O0OOOOO

* set_configurationO O ORTCOOOOOOOOOOOOODOOOODOOOODO

goo

oobo0oooOooooooooooooDoo
oooooooooooooooono

setUpO O

oooooooo

self. manager = OpenRTM_aist.Manager.init(sys.argv)
self.manager.setModulelnitProc(MyModulelnit)
self.manager.activateManager()

test_ Component

get_component_profile0 0000000000000 00O000O00O0O
compProf = OpenRTM_aist.get_component_profile(self.comp1l)

self.assertEqual(compProf.getProperty("implementation_id"), “TestComp1")

is_existingD O ORTCOOOOOOOOOO
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ret = OpenRTM_aist.is_existing(self.comp1)
self.assertFalse(ret)

test ECO O

get actual ec0 000000000000 ODOOOOOOOGgetec idO0OOIDOOOOOOOODOOOO
ec = OpenRTM_aist.get_actual_ec(self.comp1,0)

ec_id = OpenRTM_aist.get_ec_id(self.comp1l, ec)

self.assertEqual(ec_id, 0)

get default_ rate0 0000000000000 DOOOO
rate = OpenRTM_aist.get_default_rate(ec)
self.assertEqual(int(rate), 1000)

set_current_rate0 0000000000 0ODOODOOOGget current_rate0 00000000 O0OO0OOOOODOO
rate = OpenRTM_aist.get_current_rate(ec)

self.assertEqual(int(rate), 100)

rate = OpenRTM_aist.get_current_rate(ec)

self.assertEqual(int(rate), 100)

activate0 0000000000 O0ODOOOIs in_actived OOACTIVE_ STATEDOOOOOOODOOOOOOOOOOO
ret = OpenRTM_aist.activate(self.comp1,0)

self.assertEqual(ret, RTC.RTC_OK)

state = OpenRTM_aist.is_in_active(self.comp1, 0)

self.assertTrue(state)

deactivate0 0000000000 O0ODOOOOIs_in_inactived O O INACTIVE_STATED O OO ODOOOOOOOOOOOODOO
ret = OpenRTM_aist.deactivate(self.comp1,0)

self.assertEqual(ret, RTC.RTC_OK)

state = OpenRTM_aist.is_in_inactive(self.comp1, 0)

self.assertTrue(state)

getstatel 0000 0O0O0O0OODOODOODOODO
ret = [None]

ans = OpenRTM_aist.get_state(self.comp1l, O, ret)
self.assertEqual(ret[0], RTC.INACTIVE_STATE)

test_Port0 O

get port names 0000 0OD0O0OO0O0ODOOOODOOOOOOODOOO
port_names = OpenRTM_aist.get_port_names(self.compl)
self.assertTrue("TestComp10.out” in port_names)

get_inport_names0 0 0000000000000 O0OOOODOOODO
inport_names = OpenRTM_aist.get_inport_names(self.comp2)
self.assertTrue("TestComp20.in" in inport_names)

get outport_namesD OO0 000000 0ODOODODOODODOOODOOO
outport_names = OpenRTM_aist.get_outport_names(self.comp1)
self.assertTrue("TestComp10.out” in outport_names)

get sveport_namesD D000 0O0O0OO0OODOOOOOOOOOOOOOO
svcport_names = OpenRTM_aist.get_svcport_names(self.compl)
self.assertTrue("TestCompl10.service" in svcport_names)

get_port by name0 0000000000000 00O0OOOODOOOO
rtcl_port_out = OpenRTM_aist.get_port_by name(self.compl,"TestComp10.out")
pp = rtcl_port_out.get_port_profile()

self.assertEqual(pp.name, "TestComp10.out")

connect0 00000000 DOODODOODODaElready connectedd 0 00000000000 OOOOOOOOOOOO
ret = OpenRTM_aist.connect("conl1"prop,rtcl_port_out,rtc2_port_in)

self.assertEqual(ret, RTC.RTC_OK)

ret = OpenRTM_aist.already_connected(rtc1_port_out,rtc2_port_in)

self.assertTrue(ret)

get_connector_namesO 00000000000 0OOOOODOOOODOOOOO
con_names = OpenRTM_aist.get_connector_names(rtc1_port_out)
self.assertTrue("conl" in con_names)

disconnect0 D0 0000000000 OUODOOODO

ret = OpenRTM_aist.disconnect(rtc1l_port_out.get_connector_profiles()[0])
self.assertEqual(ret, RTC.RTC_OK)

ret = OpenRTM _aist.already_connected(rtc1_port_out,rtc2_port_in)
self.assertFalse(ret)
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connect multin 00000000 UOOOOOoOOO

ret = OpenRTM_aist.connect_multi("con2",prop,rtc1_port_out,[rtc1l_port_in,rtc2_port_in])
self.assertEqual(ret, RTC.RTC_OK)

ret = OpenRTM_aist.already_connected(rtc1_port_out,rtc1_port_in)

self.assertTrue(ret)

connect by namel 0 00 0000000000000

ret = OpenRTM_aist.connect_by _name("con3",prop,self.compl,"TestComp10.out" self.comp2,"TestComp20.in")
self.assertEqual(ret, RTC.RTC_OK)

ret = OpenRTM _aist.already_connected(rtc1_port_out,rtc2_port_in)

self.assertTrue(ret)

disconnect_by connector name 0000000000000 OODOO

ret = OpenRTM_aist.disconnect_by_connector_name(rtc1_port_out, "con3")
self.assertEqual(ret, RTC.RTC_OK)

ret = OpenRTM _aist.already_connected(rtc1_port_out,rtc2_port_in)
self.assertFalse(ret)

disconnect_by connector_id0 000000000000 0ODOOOO

ret = OpenRTM_aist.connect("conl1",prop,rtcl_port_out,rtc2_port_in)

ret = OpenRTM_aist.disconnect_by_connector_id(rtc1_port_out,rtcl_port_out.get_connector_profiles()[0].connector_id)
self.assertEqual(ret, RTC.RTC_OK)

ret = OpenRTM_aist.already_connected(rtc1_port_out,rtc2_port_in)

self.assertFalse(ret)

disconnect_by port nameC 00000000 0OO0ODOOOOOOO

ret = OpenRTM_aist.connect("con1"prop,rtcl_port_outrtc2_port_in)

ret = OpenRTM_aist.disconnect_by port_name(rtc1_port_out,"TestComp20.in")
self.assertEqual(ret, RTC.RTC_OK)

ret = OpenRTM_aist.already_connected(rtc1_port_out,rtc2_port_in)
self.assertFalse(ret)

test_configurationd O

get_parameter_by keyD 0O 0000000000000 OOOOOOOOOOOOOO
ret = OpenRTM_aist.get_parameter_by_key(self.compl,“default","test1")
self.assertEqual(ret,"0")

set_configuration0 O 0000000000 DOOODOOOOOOOOODOOOODO
ret = OpenRTM _aist.set_configuration(self.compl,"default”,"test1","1")
self.assertTrue(ret)

ret = OpenRTM_aist.get_parameter_by_key(self.compl,“default","test1")
self.assertEqual(ret,"1")

#4 - 2016/01/16 00:12 - miyamoto
-0000 test CORBA _RTCUtilpy O OO
-0ooos000e60000

gooooboooooooooooooboooo

is_existingRTCOOOOOOOOOOOODOOOOOOOOOOODODOO

get default rateRTCO O OO OOECOODOOODOOODOO

get_current_rateRTCO OO IDOECOOOOODOOODODO

set_current_rateRTCO O O IDOECOOODOODOODOODO

get_participants_rtcRTCO O OO OOECOOOOOOORTCOOOOOODODOO
get_active_configuration0 0 0 0000000000000 O0OD0OOOkey-valued OO0O0O

ooooooooooo

is_alive_in_default_ ecRTCO OO OOOECOalived DO OOODOO

set_default_rateRTCO OO OODOECOOOOOOOOOO

add_rtc_to_default ecRTCOO O ODOOECOOOOORTCOOOODOO
remove_rtc_to_default ecRTCO O OO OOECOOOOORTCOODOOOOOOOO
get_current_configuration_ name:J 0 0 00 0000000000000 O0O0O0O0O00O0OO

godoooboooobooobobooooo
add_rtc_to_default ecO 0D OECORTCOOOODOOOOOOOO

ret = OpenRTM_aist.add_rtc_to_default_ec(self.comp1l, self.comp2)
self.assertEqual(ret, RTC.RTC_OK)
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is_alive_in_default ecO O OaliveD D OO OOOOOOOOO
ret = OpenRTM_aist.is_alive_in_default_ec(self.comp1l)
self.assertEqual(ret, True)

set_ default_ rate0 000000000 DOOOOOOO
ret = OpenRTM_aist.set_default_rate(self.compl, 500)
self.assertEqual(ret, RTC.RTC_OK)

get default_rate0 000000000 OOOOOOO
rate = OpenRTM_aist.get_default_rate(self.compl1)
self.assertEqual(int(rate), 500)

set default rate0 000000000 OOCOOOOO
ret = OpenRTM_aist.set_current_rate(self.comp2,1000, 100)
self.assertEqual(ret, RTC.RTC_OK)

get default_ rate0 000000000000 ODOO
rate = OpenRTM_aist.get_current_rate(self.comp2, 1000)
self.assertEqual(int(rate), 100)

add_rtc_to_default ecD0 0 OECORTCODOOOODODODODODO
ret = OpenRTM_aist.remove_rtc_to_default_ec(self.comp1, self.comp2)
self.assertEqual(ret, RTC.RTC_OK)

get_current_configuration_nameJ 0 000 0000000000000 OO0OOOOOOOO

confsetname = OpenRTM_aist.get_current_configuration_name(self.comp1l)
self.assertEqual(confsetname,"default”)

#5-2016/02/18 12:03 - n-ando
joooooooooood

OO0O0*0@ebriefORTCOO0OOOOOOOOODOO
ogoo*
goDo*oRTCOOOODOOOOOOOOO
ooo+*0O
ogoo*
OO0O0*OCORBA RTCUtLID ORTCO OO OOODOOOOOOOOOOOOOOOO
goo*

ooo*ORTCOOODOO

000 *0 -0 get_component_profile(rtc):

0Oo0O0*00000RTCOProfileD 00O

00 O0*0 -0 is_existing(rtc):

oo0o*M00O0oO0ORTCOOOOOOOOOOO

00 0*0-0is_alive_in_default_ec(rtc):
O00*0000RTCOUOO0OODUOODOUODODOUDDAiveDDODODOOODO
ooo*

ooOo*0eEcoOOdOOOOO

000 *0-0 get_actual_ec(rtc,0 ec_idd =0 0):
ooo*X00000RTOOOOOOCOOOOODOOOODOOOOOOOOOOOOOIDO
0o00*000000000O000DO0O0O

000 *0-0 get_ec_id(rte,[0 ec):
ooo*X0000000O0RTOOO0OCOOOOOOOOOOOOOOOOOOOIDOODOO
ooo*o0oooo

000 *0 -0 activate(rte,d ec_idd =0 0):
ooo*000O0ORTCOODOOOOOOOOOOOOODOOOOOOO

00 0 *0 -0 deactivate(rtc,00 ec_id0 =00 0):
oo0*0000ORTCOOOOOOOOOOOOOODOOOOOOOOO

00 0*0 -0 reset(rtc,d ec_idO =0 0):
O00*0000RTCOODODOOOOOOUOODOOOODDOOOOO

000 *0-0 get_state(rtc,0 ec_id=0,0 rtcO =0 []):
ooo*0000000C0RTOOOCOOOOOOOOOOOOOOOOOOOOOODOO
000 *0-0is_in_inactive(rtc,00 ec_id =0 0)
000*000000C0RTOOOCOOOO0ODODOOOODOOOODOOOOOINACTIVEDDO
ooo*X000ooOo0oooooo

000 *0-0is_in_active(rtc,0 ec_id0 =00 0):
O00*000000C0RTOOOCOOOOOOOOOOOUOCODOOOOOACTIVEDDO
ooo*xOooooooooo

00 0*0-0Ois_in_error(rtc,0 ec_idd =0 0)
000*000000C0RTOOO0OOOUOOOOOCOOOUOCODOOOODOERROROODO
ooo*xOooooooooo

000 *0 -0 get_default_rate(rtc):
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goo*oOo000oRTCOOO0O0OOOOOOOODOOODOOODOOODO

000 *0 -0 set_default_rate(rtm,0 rate):
goO0*®mOoboOooRrRTCOObOODOODObOOOOOUOOUOObDObUODbDODO

00 0*0 -0 get_current_rate(rtc,0 ec_id):
go0O0*XoOD0OoboRTCOODIDODODOOOOOOOOODOODO

000 *0-0 set_current_rate(rtc,0 ec_id,0 rate):
goo*oo0oOooRrRTCOCOOIDODOOODOOOODOOOOOOO

000 *0 -0 add_rtc_to_default_ec(localcomp, othercomp):
goOo*®mOoboobooorRTCOObOOO0OOOU0OOOObOObDUODODORTCODODOD
0 0 0 *0 -0 remove_rtc_to_default_ec(localcomp,C othercomp):
go0O0*X000000ORTCOOOODOOOOODOODOODODODORTCODODODO
goo*xmoooooooo

0 0 O0*0 -0 get_participants_rtc(rtc):
Jgo0O0*X0000RTCOODODOODOODOOOOOOODODODODODORTCOODODO
goo*xmobooooog

goo=*

ooO0*xoO0b00oboono

00 0*0 -0 get_port_names(rtc):
000*00000000ORTCOODOOOOODOOODODOOO

000 *0 -0 get_inport_names(rtc):
ooo*000O000ooRTCOOO0COOOOCOOOOODOOOO

00 0 *0 -0 get_outport_names(rtc):
o0o0*M00C0000oOoRTCOODOOOOODOOOODOOOOOO

0 0 0 *0 -0 get_svcport_names(rtc):
000*00000000ORTCOODOOOUOODDOOOODDOOOOODOO

000 *0-0 get_port_by_name(rtc):
ooo*X0000000oOoRTCOODOOCOOOOOOOODOOO

00 0O *0 -0 get_connector_names(rtc,[] port_name):
oo0o*00000000O0000O0000O000O0oUODUOOoOoDOoooOoOo
0 0 O *0 -0 get_connector_ids(rtc,[] name):

0 00O *0 -0 get_connector_ids(port):
oo0o*000000C00O000ooO0O0oO0o0ooOOoOoOIOOooooon
0 0 O *0 -0 create_connector(name,] prop_arg,[] port0,[] portl):
000*000000000000O00000000O0O0UOO0O00DODOOOD
000 *0 -0 already_connected(portO,0 portl):
ooo*X0000O000O0OO00OOO00OOO0O0COOOOODO

0 0 O0*0 -0 connect(name, prop,O port0,0] portl):
ooo*000o0o00ooOoOooooOooon

0 0 0 *0 -0 connect_multi(name,O prop,0 port,0 target_ports):
00o0*00000000000000000000O00DUDOO0O00DOOOO
000 *0 -0 connect_by_name(name,d prop,O rtcO,00 portName0,0 rtc1,00 portNamel):
ooo*000O000OoRTCOOO0OCOOOCOOOOODOOOO

0 0 0O *0 -0 disconnect(connector_prof):

ooo*

0 0 0*0 0 0O disconnect_by_portref_connector_id(port_ref,[] conn_id)

00 0O *0 0 O disconnect_by_portref_connector_name(port_ref,(J conn_name)
000 *0 0 O disconnect_by_portname_connector_id(port_ref,[] conn_id)

00 O0*0 0 O disconnect_by_portname_connector_name(port_ref,[] conn_name)
000 *0 0 O disconnect_by_portrefs(portO_ref,0 portl_ref)

000 *0 0 O disconnect_all_by_ref(port_ref)

00 0*0 0 0O disconnect_all_by_name("rtcloc://hostname/Consoleln.out”)
ooo*

ooo*000oO0o0o0ooOoOooooooon

0 0 O0*0 -0 disconnect_by_connector_name(port,(] name):
o0o0*00000000000000000OoU0ooOOoOoooOo

000 *0 -0 disconnect_by_connector_id(port,d id):
ooo*X0000o000ooOo0o0oooOoOoompoooooooo

00 0O *0 -0 disconnect_by_port_name(port0,[] portl):
oo0o*00000000O000000O0O00OOo0D0DOoO0oDUDOOOoDOooOoOOoOo
ooo*XO0oooooo

ooo*

ooo*000oO0o0oooooooo

00 O0*0 -0 get_configuration(rtc,d0 conf_name):
oo0o*0000000ORTOOOOOOOOOOOOOOCODOOOODOO

0 0 0*0 -0 set_configuration(rtc,0 confset_name, key,[ value):
00o0*000000000000000O000UODOO0O

000 *0-0 get_parameter_by_key(rtc,00 confset_name,[] value_name):
ooo*X000O0000O0O0O00O00O0O0O0O0OOO0OO0OO0OOOOOOOOOO
000*00000000000000oO0OoOO

000 *0 -0 get_active_configuration_name(rtc):
ooo*0000O000OoRTCOODOOOOOOOOOOOOOOOOOCOOOOODOO
00 O0*0 -0 get_active_configuration(rtc):
oo0*00000000O000oDO0O00oOoOOoU0ooOOoOooOoOon
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0 0 0*0 -0 set_active_configuration(rtc,d value_name, value):
go0O0*x0000000000O000000bO0oDbOOoDbOoD

#6 - 2016/02/25 05:19 - miyamoto
-0000 test CORBA_RTCUtilpy O OO
-0ooo0oeodndsonnn

is_existingD O OOQOOOO
go0o0o000o0ob0obOOobOOobOooobooobooog

ret = OpenRTM_aist.is_existing(self.comp1)
self.assertFalse(ret)

—

self.assertTrue(ret)

disconnect_by_connector_namel] O O disconnect_by_connector_id0d O O disconnect_by_portref_connector_namel O O disconnect_by_portname_c
onnector_id0 0O OO0OO0OO

disconnect_all_by ref0 0000000
ooooooooooopooo

ret = OpenRTM_aist.disconnect_all_by_ref(rtc1_port_out)
self.assertTrue(ret)

ret = OpenRTM _aist.already_connected(rtc1_port_out,rtc2_port_in)
self.assertFalse(ret)

get_configurationD OO O 0O0O0O0O0O0O0OOOOOOODOOOOOKey-valuel O OOO0O0O0O0O0O0O0O0O
goooooooooooooo

conf = OpenRTM_aist.get_configuration(self.comp1l, "default")
self.assertEqual(conf.getProperty(“test1"),"0")

get_current_configuration_name( O [0 get_active_configuration_nameC0 0000000

set_active_configurationD0 O O OO QOO
gooooboooooooooo

ret = OpenRTM_aist.set_active_configuration(self.comp1l,“test1","2")
self.assertTrue(ret)

ret = OpenRTM_aist.get_parameter_by_key(self.comp1l,"default”,"test1")
self.assertEqual(ret,"2")

#7 - 2016/02/26 00:23 - miyamoto
-0000 test CORBA _RTCUtilpy O OO

ooooooooooo

disconnect_all_by name

goooboobooboboboboboobooooo

goooooooboboboo

ret = OpenRTM_aist.connect("conl1"prop,rtcl_port_out,rtc2_port_in)

ret = OpenRTM_aist.disconnect_all_by name("rtcloc.//localhost:2810/example/TestComp20.in")
self.assertEqual(ret, RTC.RTC_OK)

ret = OpenRTM _aist.already_connected(rtc1_port_out,rtc2_port_in)
self.assertFalse(ret)

disconnect_by portname_connector_name

goOo0o0o0o0o0ob0obO0obO0obOoboOobDOobDobooooooo

goo0o0o0oo0oboboboo

ret = OpenRTM_aist.connect("con1"prop,rtcl_port_outrtc2_port_in)

ret = OpenRTM_aist.disconnect_by_portname_connector_name("rtcloc://localhost:2810/example/TestComp20.in“,"conl1")
self.assertEqual(ret, RTC.RTC_OK)

ret = OpenRTM_aist.already_connected(rtc1_port_out,rtc2_port_in)
self.assertFalse(ret)
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disconnect_by portname_connector_id

gooooooogooooompoogooooooog
goooooooooooooo

ret = OpenRTM_aist.connect("conl1",prop,rtcl_port_out,rtc2_port_in)
ret =

OpenRTM_aist.disconnect_by_portname_connector_id("rtcloc://localhost:2810/example/TestComp10.out",rtc1_port_out.get_connector_profiles()[0

].connector_id)

self.assertEqual(ret, RTC.RTC_OK)

ret = OpenRTM_aist.already_connected(rtc1_port_out,rtc2_port_in)
self.assertFalse(ret)

#8 - 2016/02/28 17:08 - miyamoto
get state0 000D 0ODOODOODOODOO
get_state(rtc, ec_id, state)

—

get_state(state, rtc, ec_id)

#9 - 2016/03/17 10:58 - miyamoto
-000O0soOdd 100000

#10 - 2017/08/30 14:20 - n-ando
-000oboooooooooooo

gooo

test CORBA_RTCUtil.py
test CORBA_RTCUtil.py
test CORBA_RTCUtil.py
test. CORBA_RTCULtil.py
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